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1.  What do you understand by the Iron Triangle problem?
Is it possible to design a welfare program that solves

(18)

this iron triangle? Discuss.
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2. Distinguish between public goods and private goods.
Using suitable diagrams, compare the efficient

provision of public goods vis a vis private goods.

(6,12)
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3. (a) Suppose that the labour market is perfectly
competitive. Mr A and Mr B earn Rs. 50,000 per
year working for the same company which offers
health insurance worth Rs. 10,000 to all the
employees. Assume further that they both face a
flat tax rate of 25%. Given that, Mr. A buys health
insurance from the employer and Mr. B buys
insurance on his own for Rs. 9000, discuss the
impact of tax subsidy to employer- provided
insurance. (10)
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(b) What is meant by Optimal fiscal federalism?

(8)
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4. (a) “When internalizing externalities, the assignment

of property rights to one of the parties will bring

9)

a socially efficient outcome.” Explain.
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(b) Explain the types of Intergovernmental Grants in

detail. (9)
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5. What is meant by market failure? Explain in
detail, reasons why markets fail to achieve

efficiency. (18)
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6. Explain the key recommendations of the [5th
Finance Commission, and the fiscal roadmap envisaged

by it. (18)
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7. (a) Illustrate how there is a clear potential for moral
hazard on the patient side of the medical care

system. Use suitable diagrams. 9)

(b) Generally, for every emissions fee, in theory there
is a cap-and-trade system that achieves just the
same outcome, and vice versa. However, in
practice, there are some differences in how the

two systems perform. Discuss. 9
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8. Write short notes on:
(a) Annual Financial Statement of the Budget

(b) Free-rider problem

(¢) Static versus Dynamic scoring (6,6,6)
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